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A wagon has 4 wheels.

How many wheels do 2 wagons 
have?

Name: 

Daily Word Problem

Show your work.

A-36

answer: ____________________



answer: ____________________

Name: 

Daily Word Problem

A-37
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I saw 5 spiders.

4 of them made a web.

How many spiders did not make a 
web?

Show your work.



Name: 

Daily Word Problem

A-38

Super Teacher Worksheets - www.superteacherworksheets.com

answer: ____________________

Alan and Rose have 6 slices of pizza.

Alan eats 2 slices.

Rose eats 1 slice.

How many slices do they have left?
Show your work.



Name: 

Daily Word Problem

A-39
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answer: ____________________

Tyrone sees 13 red ants.

Then he sees 5 brown ants.

How many ants does he see in all?
Show your work.



Name: 

Daily Word Problem

A-40
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answer: ____________________

Liam is 13 years old.

Logan is 5 years younger.

How old is Logan?
Show your work.
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Daily Word Problem

ANSWERSA-36 through A-40

4 + 4 = 8

5 -- 4 = 1
6 -- 2 = 4
4 -- 1 = 3

13 + 5 = 18 13 -- 5 = 8

A wagon has 4 wheels.

How many wheels do 2 wagons 
have?

Show your work.

answer: ____________________ answer: ____________________

I saw 5 spiders.

4 of them made a web.

How many spiders did not make a 
web?

Show your work.

answer: ____________________

Alan and Rose have 6 slices of pizza.

Alan eats 2 slices.

Rose eats 1 slice.

How many slices do they have left?
Show your work.

answer: ____________________

Tyrone sees 13 red ants.

Then he sees 5 brown ants.

How many ants does he see in all?
Show your work.

answer: ____________________

Liam is 13 years old.

Logan is 5 years younger.

How old is Logan?
Show your work.

8 wheels 1 spider 3 slices

8 years old18 ants


